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CHAPTER 1

FIXED-INCOME SECURITIES:
DEFINING ELEMENTS

SOLUTIONS

1. A s correct. The tenor of the bond is the time remaining until the bond’s maturity date.
Although the bond had a maturity of 10 years at issuance (original maturity), it was issued
four years ago. Thus, there are six years remaining until the maturity date.

B is incorrect because the nominal rate is the coupon rate—that is, the interest
rate that the issuer agrees to pay each year until the maturity date. Although interest is
paid semi-annually, the nominal rate is 10%, not 5%. C is incorrect because it is the
bond’s price, not its redemption value (also called principal amount, principal value,
par value, face value, nominal value, or maturity value), that is equal to 102% of the
par value.

2. Cis correct. A capital market security has an original maturity longer than one year.

A is incorrect because a perpetual bond does not have a stated maturity date. Thus,
the sovereign bond, which has a maturity of 15 years, cannot be a perpetual bond. B is
incorrect because a pure discount bond is a bond issued at a discount to par value and
redeemed at par. Some sovereign bonds (e.g., Treasury bills) are pure discount bonds, but
others are not.

3. Cis correct. The coupon rate that applies to the interest payment due on 30 June is based
on the three-month Libor rate prevailing on 31 March. Thus, the coupon rate is 1.55% +
0.65% = 2.20%.

4. Bis correct. The indenture, also referred to as trust deed, is the legal contract that describes
the form of the bond, the obligations of the issuer, and the rights of the bondholders.

A is incorrect because covenants are only one element of a bond’s indenture. Cove-
nants are clauses that specify the rights of the bondholders and any actions that the issuer
is obligated to perform or prohibited from performing. C is incorrect because a debenture
is a type of bond. In many jurisdictions, debentures are unsecured bonds.

5. B is correct. A surety bond is an external credit enhancement, that is, a guarantee re-
ceived from a third party. If the issuer defaults, the guarantor who provided the surety
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10.

11.

12.

bond will reimburse investors for any losses, usually up to a maximum amount called
the penal sum.

A is incorrect because covenants are legally enforceable rules that borrowers and lend-
ers agree upon when the bond is issued. C is incorrect because overcollateralization is an
internal, not external, credit enhancement. Collateral is a guarantee underlying the debt
above and beyond the issuer’s promise to pay, and overcollateralization refers to the pro-
cess of posting more collateral than is needed to obtain or secure financing. Collateral,
such as assets or securities pledged to ensure debt payments, is not provided by a third
party. Thus, overcollateralization is not an external credit enhancement.

B is correct. Affirmative (or positive) covenants enumerate what issuers are required to do
and are typically administrative in nature. A common affirmative covenant describes what
the issuer intends to do with the proceeds from the bond issue.

A and C are incorrect because imposing a limit on the issuer’s leverage ratio or on the
percentage of the issuer’s gross assets that can be sold are negative covenants. Negative cov-
enants prevent the issuer from taking actions that could reduce its ability to make interest
payments and repay the principal.

B is correct. Prohibiting the issuer from investing in risky projects restricts the issuer’s
potential business decisions. These restrictions are referred to as negative bond covenants.

A and C are incorrect because paying taxes as they come due and maintaining the
current lines of business are positive covenants.

C is correct. Bonds sold in a country and denominated in that country’s currency by an
entity from another country are referred to as foreign bonds.

A is incorrect because Eurobonds are bonds issued outside the jurisdiction of any sin-
gle country. B is incorrect because global bonds are bonds issued in the Eurobond market
and at least one domestic country simultaneously.

A is correct. Eurobonds are typically issued as bearer bonds, that is, bonds for which the
trustee does not keep records of ownership. In contrast, domestic and foreign bonds are
typically registered bonds for which ownership is recorded by either name or serial number.

B is incorrect because Eurobonds are typically issued as bearer bonds, not registered

bonds. C is incorrect because Eurobonds are typically subject to lower, not greater, regu-
lation than domestic and foreign bonds.
C is correct. The original issue discount tax provision requires the investor to include a
prorated portion of the original issue discount in his taxable income every tax year until
maturity. The original issue discount is equal to the difference between the bond’s par
value and its original issue price.

A is incorrect because the original issue discount tax provision allows the investor to

increase his cost basis in the bond so that when the bond matures, he faces no capital gain
or loss. B is incorrect because the original issue discount tax provision does not require any
tax deduction in the year the bond is purchased or afterward.
C is correct. A fully amortized bond calls for equal cash payments by the bond’s issuer
prior to maturity. Each fixed payment includes both an interest payment component and
a principal repayment component such that the bond’s outstanding principal amount is
reduced to zero by the maturity date.

A and B are incorrect because a bullet bond or plain vanilla bond only make interest
payments prior to maturity. The entire principal repayment occurs at maturity.

C is correct. A cap in a floating-rate note (capped FRN) prevents the coupon rate from
increasing above a specified maximum rate. This feature benefits the issuer in a rising
interest rate environment because it sets a limit to the interest rate paid on the debt.
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13.

14.

A is incorrect because a bond with a step-up coupon is one in which the coupon,

which may be fixed or floating, increases by specified margins at specified dates. This
feature benefits the bondholders, not the issuer, in a rising interest rate environment
because it allows bondholders to receive a higher coupon in line with the higher mar-
ket interest rates. B is incorrect because inflation-linked bonds have their coupon pay-
ments and/or principal repayment linked to an index of consumer prices. If interest
rates increase as a result of inflation, this feature is a benefit for the bondholders, not
the issuer.
C is correct. In contrast to fixed-rate bonds that decline in value in a rising interest rate
environment, floating-rate notes (FRNs) are less affected when interest rates increase be-
cause their coupon rates vary with market interest rates and are reset at regular, short-term
intervals. Consequently, FRNs are favored by investors who believe that interest rates will
rise.

A is incorrect because an inverse floater is a bond whose coupon rate has an inverse

relationship to the reference rate, so when interest rates rise, the coupon rate on an inverse
floater decreases. Thus, inverse floaters are favored by investors who believe that interest
rates will decline, not rise. B is incorrect because fixed rate-bonds decline in value in a
rising interest rate environment. Consequently, investors who expect interest rates to rise
will likely avoid investing in fixed-rate bonds.
C is correct. Capital-indexed bonds pay a fixed coupon rate that is applied to a principal
amount that increases in line with increases in the index during the bond’s life. If the con-
sumer price index increases by 2%, the coupon rate remains unchanged at 6%, but the prin-
cipal amount increases by 2% and the coupon payment is based on the inflation-adjusted
principal amount. On the first coupon payment date, the inflation-adjusted principal
amount is 1,000 X (1 4+ 0.02) = 1,020 and the semi-annual coupon payment is equal to
(0.06 x 1,020) + 2 =30.60.

15. A is correct. A put provision provides bondholders the right to sell the bond back to the

16.

issuer at a predetermined price prior to the bond’s maturity date.

B is incorrect because a make-whole call provision is a form of call provision; that

is, a provision that provides the issuer the right to redeem all or part of the bond before
its maturity date. A make-whole call provision requires the issuer to make a lump sum
payment to the bondholders based on the present value of the future coupon payments
and principal repayments not paid because of the bond being redeemed early by the issuer.
C is incorrect because an original issue discount provision is a tax provision relating to
bonds issued at a discount to par value. The original issue discount tax provision typically
requires the bondholders to include a prorated portion of the original issue discount (i.e.,
the difference between the par value and the original issue price) in their taxable income
every tax year until the bond’s maturity date.
B is correct. A call provision (callable bond) gives the issuer the right to redeem all or
part of the bond before the specified maturity date. If market interest rates decline or the
issuer’s credit quality improves, the issuer of a callable bond can redeem it and replace it
by a cheaper bond. Thus, the call provision is beneficial to the issuer.

A is incorrect because a put provision (putable bond) is beneficial to the bondholders.
If interest rates rise, thus lowering the bond’s price, the bondholders have the right to sell
the bond back to the issuer at a predetermined price on specified dates. C is incorrect
because a conversion provision (convertible bond) is beneficial to the bondholders. If the
issuing company’s share price increases, the bondholders have the right to exchange the
bond for a specified number of common shares in the issuing company.
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17. A is correct. A put feature is beneficial to the bondholders. Thus, the price of a putable
bond will typically be higher than the price of an otherwise similar non-putable bond.

B is incorrect because a call feature is beneficial to the issuer. Thus, the price of a
callable bond will typically be lower, not higher, than the price of an otherwise similar
non-callable bond. C is incorrect because a conversion feature is beneficial to the bond-
holders. Thus, the price of a convertible bond will typically be higher, not lower, than the
price of an otherwise similar non-convertible bond.



CHAPTER 2

FIXED-INCOME MARKETS:
ISSUANCE, TRADING,
AND FUNDING

SOLUTIONS

1. Cis correct. In most countries, the largest issuers of bonds are the national and local gov-
ernments as well as financial institutions. Thus, the bond market sector with the smallest
amount of bonds outstanding is the non-financial corporate sector.

2. B is correct. The distinction between investment grade and non-investment grade debt
relates to differences in credit quality, not tax status or maturity dates. Debt markets are
classified based on the issuer’s creditworthiness as judged by the credit ratings agencies.
Ratings of Baa3 or above by Moody’s Investors Service or BBB— or above by Standard &
Poor’s and Fitch Ratings are considered investment grade, whereas ratings below these
levels are referred to as non-investment grade (also called high yield, speculative, or junk).

3. A is correct. Eurobonds are issued internationally, outside the jurisdiction of any single
country. B is incorrect because foreign bonds are considered international bonds, but they
are issued in a specific country, in the currency of that country, by an issuer domiciled in
another country. C is incorrect because municipal bonds are US domestic bonds issued by
a state or local government.

4. B is correct. Many emerging countries lag developed countries in the areas of political
stability, property rights, and contract enforcement. Consequently, emerging market
bonds usually exhibit higher risk than developed markets bonds. A is incorrect because
emerging markets bonds typically offer higher (not lower) yields than developed mar-
kets bonds to compensate investors for the higher risk. C is incorrect because emerging
markets bonds usually benefit from higher (not lower) growth prospects than developed
markets bonds.

5. B is correct. The coupon rate of a floating-rate bond is expressed as a reference rate plus a
spread. Different reference rates are used depending on where the bond is issued and its
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currency denomination, but one of the most widely used set of reference rates is Libor. A
and C are incorrect because a bond’s spread and frequency of coupon payments are typi-
cally set when the bond is issued and do not change during the bond’s life.

C is correct. Interbank offered rates are used as reference rates not only for floating-rate
bonds, but also for other debt instruments including mortgages, derivatives such as interest
rate and currency swaps, and many other financial contracts and products. A and B are in-
correct because an interbank offered rate such as Libor or Euribor is a set of reference rates
(not a single reference rate) for different borrowing periods of up to one year (not 10 years).
A is correct. In an underwritten offering (also called firm commitment offering), the in-
vestment bank (called the underwriter) guarantees the sale of the bond issue at an offering
price that is negotiated with the issuer. Thus, the underwriter takes the risk of buying the
newly issued bonds from the issuer, and then reselling them to investors or to dealers who
then sell them to investors. B and C are incorrect because the bond issuing mechanism
where an investment bank acts as a broker and receives a commission for selling the bonds
to investors, and incurs less risk associated with selling the bonds, is a best efforts offering
(not an underwritten offering).

A is correct. In major developed bond markets, newly issued sovereign bonds are sold to
the public via an auction. B and C are incorrect because sovereign bonds are rarely issued
via private placements or best effort offerings.

B is correct. A shelf registration allows certain authorized issuers to offer additional bonds
to the general public without having to prepare a new and separate offering circular. The
issuer can offer multiple bond issuances under the same master prospectus, and only has
to prepare a short document when additional bonds are issued. A is incorrect because the
grey market is a forward market for bonds about to be issued. C is incorrect because a
private placement is a non-underwritten, unregistered offering of bonds that are not sold
to the general public but directly to an investor or a small group of investors.

B is correct. Secondary bond markets are where bonds are traded between investors. A is
incorrect because newly issued bonds (whether from corporate issuers or other types of
issuers) are issued in primary (not secondary) bond markets. C is incorrect because the
major participants in secondary bond markets globally are large institutional investors and
central banks (not retail investors).

C is correct. In over-the-counter (OTC) markets, buy and sell orders are initiated from
various locations and then matched through a communications network. Most bonds
are traded in OTC markets. A is incorrect because on organized exchanges, buy and sell
orders may come from anywhere, but the transactions must take place at the exchange
according to the rules imposed by the exchange. B is incorrect because open market op-
erations refer to central bank activities in secondary bond markets. Central banks buy
and sell bonds, usually sovereign bonds issued by the national government, as a means to
implement monetary policy.

C is correct. Liquidity in secondary bond markets refers to the ability to buy or sell bonds
quickly at prices close to their fair market value. A and B are incorrect because a liquid
secondary bond market does not guarantee that a bond will sell at the price sought by the
investor, or that the investor will not face a loss on his or her investment.

C is correct. Sovereign bonds are usually unsecured obligations of the national govern-
ment issuing the bonds; they are not backed by collateral, but by the taxing authority of
the national government. A is incorrect because bonds issued by local governments are
non-sovereign (not sovereign) bonds. B is incorrect because sovereign bonds are typically
unsecured (not secured) obligations of a national government.
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